0h. 3 Tosr p307
!% Talse | e oludm, no soluhums, oy mfivide soluhumS.
2 Talse must ywadce bt s ue.
DT, 3F0 waidh 1S %\M.%,MV\Q ol P
BTalse, 3x=0=7 Jwde by 3 fget x=0. Sub
ok e et what =,
(o

b 233-:'?36;2 -:/‘7 ' L‘1623_) ,+ \C;Dz%'{-/ :
= -:,l S (- =
(p@jlcapl X L}l’;— tzo@:fg?/
[@ Q/?FJ
7 y WC_P-."L 8%3)( = 2 = "Ll-
x +3u= T
/)(:LD“ 2 K_\“B@ =ac <33 )
%‘\’ZX’;{P | : 3(*3%-1) —Z\j:~l4
| e - -y -3-Af=-it XK
Ou=x+tlb ia M N3 = - 14 -
@gc,ZX«lp ‘ \ \ﬁ+ —r\\ m
9‘-;'7_5 $2y = -7 " |
(D= Y Y- K -’%\i\gz)
L*B‘X +2<'%§>: Ea Y =-2|
llox +3Cx) = -[5
. e
= e e =
" fszééx; ,\é @_’_;__‘E:J » Kifzj

:



X- 2 =3 e
1 Su)(o;jhﬂc\'l(/v\

3E Ry )= 4 i) +20
ﬁ%ﬁﬁg& 8g+zz+20

i 2y+ 18 +3(j— Yy +32

\_S%gé+|8 % + 32

gﬁx ¥ \ﬁ G | JHX- lmj =1
7%= ) ~2X + 34 «o @)
H% + (0 -4y ch =
\ox—\’50770 O+O=7 :
Oy= To 047 @ ND Solufion
s &T5)
Gr=sl = - g e -7 Y=k i7
| a%l_g u&:\& Uy +A53\>| quoshtutinng
‘ Oy ¥ 3(E3x Fiy=| t
e et o,
—5y¢ ¥3] =1 |
::; o=
113, gg(zx-\'\j_) =Ux +20 ]g: Urg (41’5)




B . A

4 \x-% _ 72-y e e -

STy %
S’J\.&M 7121 i %
- X+y=124  eliminatitn
4(X'55 = 2(2-4) gX'lj =32 T8ty=Y
)3y =2a002x) 2x =15l
| Six-12 = 2 -2y =713
L 13y= -ty gy -3y +14) (18,4L)
e 78 ond e
IF3Y +14-12 = 4 -2y (;Qumat s L_J
e Y2y .
2=4+y lo. omIT
7 )( +# 5] farms h Toxas
-5 Q:A@ %»%MMS i MO
| “’%i= ‘LL}F 40,000 + ?)
e X Y = 365,000
|~ = (52)
| X/x == 110,000 + U + Y = 365,000
190,000 + 2y = 365,000
Ly = 225,000

Lams, oand Missouri
WS \\Q?OO Lowms, % + 112,500 = 35,000

Eexag hag 252,500 Ly= 12,500\




